HYDRAULIC TAPPING MACHINE  (M5- M24) MANUAL



Piston Adjustment Handle

Hydraulic Hose

Front Paralel Arm

Piston
Hydro Motor
Handle
Piston
Adjustment Rin
Handle ° Start /
Stop
Pressure Pacco
indicator Switch
Electric
Dimmer panel
Ventilation fan
Level and
Heat
indicator

Wheel



1- SafetyRules - ---------"-"-"-"-"---"--"-"-"-"---- - Page 5 -6
2-MachinesUsage  -----------"-------~-~------- Page 7

3 - Technical Properties - ----------------------- Page 7

4 - Standard Accessories - ------ - - - - - - oo - - - Page 7

5 - Optional Accessories - - ------------------- Page 7

6 - Machine's Assmebly - ----------------------- Page 8

7 - Operation of Machine - --------------------- Page 9-10 - 11—12
8 - Maintenance of Machine - --------------------- - Page 13
8-1- Filling HydraulicOil === o oo oo - - Page 13

9 - Maintenance Control List - ---------------------- Page 14
10 - Safe Tap Holder System - - - - - - - oo oo oo oo - - - Page 14

11 - Control Circuit =~ - - === - - oo e oo - Page 15
12-PowerCycle  ---------------““-“-“"-“---- - Page 16

13 - Drawing Diameters - - - - - - - - - - - - - - - - - - - - - - - - - - Page 17
14 - Spindle—Part List = - -----------------"-"-- -~ — - Page 18



Possible dangers may be prevented by reading explanations carefully. Keep people (especially children)
away from working field during tapping process, except for the operator.

Read manual carefully.

Use your machine at a suitable working environment. Unsuitable modifications will affect safe operation
and long life of your machine negatively.

Your machine works at 380 V.

Machine will not work when phases are connected inverse, because there is phase protection relay at the
machine.

Do not work the machine before putting oil into machine's hydraulic unit. Make sure hydraulic hose fittings
are firmly tightened.

WARNING! THERE IS HIGH PRESSURE IN THE MACHINE

Metal parts may jump out when tapping. To prevent injuries arising from this reason, you have to wear
protective eye glasses for job, with edge protection

Heat will occur because of tap's friction to material. Do not touch hot parts with bare hands.



1- Safety Rules

Heat will occur because of tap's friction to material. Do not touch hot parts with bare hands.

This is a very important chapter because in the past purchasers of ACROBAT tapping machines used it in a
manner that endangered the persons in the vicinity of the machine and the environment in which the
machine was located.

The machine is built mainly of steel and can not be used for combustible materials and harmful. The
customer must check whether the processed materials meet these requirements and do not pose a threat
to people living in the vicinity.

Placing any part of the body on the machine while the machine is turned on is prohibited. It is also
prohibited to place on the machine or near the machine materials that are not mounted on the machine for
processing. These materials may be under the influence of a working machine vibrations and cause a threat
to the health of people in the vicinity.

It is forbidden to operate the machine by people who are not familiar with the manual.

The user is required to secure the area around the machine to protect bystanders from being hit by a
moving part of a machine or workpiece’s splinter.

The machine must be operated by no more than one person (the operator) at a time.
Operate wearing clothes with narrow buttoned cuffs.
Long hair should be tied up.

If you notice irregularities in the operation of the machine immediately stop the operation and contact your
service representative.

It is forbidden to operate the machinery while intoxicated.

Children can not approach the machine.

When the machine is running, stay clear of the rotating tap

It is forbidden to leave the machine running unattended.

When the machine is running do not perform any operations in its surrounding area.
Never service the machine with motor on.

Never operate, service, repair or adjust machine without proper instruction from your supervisor and
without reading and understanding the instruction manual. It is the employer's responsibility to implement
the above instructions and to provide proper safety measures necessary for each particular use, operation,
setup or service of the machine.

Do not remove the labels from machine for any reason.



1- Safety Rules

NOISE EMITED BY THE MACHINE

The device properties used to measurement.

Model : Delta Ohm HD2110
Serial Number : 14000044R

The measurement condition was made as below :
15 °C and % 55 Rh

Results of measuArement

A point 72,2 dB(A)
B point 72,5 dB(A)
C point 71,5 dB(A)
D point 70,5 dB(A)
E point 70,0 dB(A)




2- Machine's Usage

ACROBAT (M5-M24) Hydraulic tapping machine is designed to help you perform your tapping works easily,
quickly and economically. It provides you with fast tapping possibility thanks to special hydraulic system
with high torque. Connection is vertical to ground thanks to its acrobatic arm, horizontal operation is
possible if you desire. Prevents the breakage of tap thanks to safe type tap holders, and provides savings
for you.

Thanks to its mobile table you can easily carry and operate it anywhere.

3- Technical Properties

Working Pressure : 60 Bar - 120 Bar

Power : 3 kw

Speed: 0- 600 Rpm 1. kademe/ 0 - 150 Rpm 2. kademe
Machine Wight : 250 Kg

Reaching Capacity : 2050 mm

Elevation Capacity : 920 mm

Rotating Capacity : 360 degree

Table Height : 900 mMm

Widht of Table : 700 mm

Lenght of Table: 900 mMm

4- Standard Accessories

1- Angle head system

2- Connection bolts
3- Tap holder placement socket

4- Hydraulic system

5—- Optional Accessories

1- Tap holders with or without safety

2- Fixed head system

3- Mobile table at any size



6- Machine Assembly

Place the base flange of machine in such a way to fit table connection holes. Make sure you tighten bolts after
you place them with suitable Allen wrench.

WARNING! Make sure the connection surface of table is clean.

The smallest defect here (burr, small metal pieces) will prevent your machine to work vertically to
ground. After you place the bolts, remove package bands and uncover the machine.

To make machine adjustment for 9o degrees (See Picture-1) loosen bolts with number 1 and number
2 as in the picture (2 bolts facing each other). So that front head group will become free.

Press the mouth to which safe tap holder is connected.firmly on the surface you want to carry out
tapping. (PICTURE 4/ 90 degrees of leaning mouth) Tighten bolts with number 1 and number

2 again after surface leans. Make sure surface leaning does not change during the process of
tightening bolts. In that way 90 degrees adjustment of your
machine will be done.

YOUR MACHINE IS SENT AFTER THE ADJUSTMENT IS MADE
FOR 90 DEGREES.

3

Picture -1

Hardness adjustment mechanism which allows lifting its weight is available on the acrobatic arm.

[See Picture 1) Front parallel arm group hardness adjustment can be done via handle with number 3 as
seen on the picture, and handle with number 4 is used for rear parallel arm group's hardness
adjustment.



7- Operation Of Machine

Machine includes a 3 kw electric motor. Firstly measure the currents coming to plug you will use before
connecting your machine to plug and operating it. It must be 380 V between the phases and 220 V
between phase-neutral. If alternating current is reaching to system, it will damage electrical system of
your machine. In this situation, use a regulator to balance phases before operating the machine.

WARNING! Otherwise electric faults which may occur will not be in scope of guarantee.

Electric installation has phase protection relay. So that when phase with reverse order reaches to electric
motor, phase protection relay activates and prevents the reverse operation of electric motor and hydraulic
pump which is connected to motor from working in reverse direction, and protects the system. (See Picture
2) In such a situation if the machine is not working, remove machine's three-phase electric cable and
connect to another suitable three-phase socket. When the phase coming to motor is correct, system will

activate.

When the lamp is off

REVERSE PHASE

Picture -2

When the lamp is on

FLAT PHASE

To start the machine open pacco switch on unit and press on motor start button (green button) after

waiting for 5 seconds. (See Picture 3) And hydraulic system will become activate

MOTOR
START

PACCO
SWITCH

START STOP

\4\\ OFF / ON ( )

Picture -3

MOTOR
STOP




7— Machine's Operation

Button on handle at the end of acrobatic arm (See Picture 4) adjusts machine's spindle rotation direction.
Button stays at middle position automatically when machine is not used and spindle does not rotate. To be
able to turn spindle clockwise, press and hold the button to left. In that way spindle will rotate clockwise.
When you press and hold the button to right, spindle will rotate counter-clockwise.

Left Butto

Right Buttg

90 Degree
Damping

Safe Tapping Holder |

Picture 4

Attach the tap you want for tapping to tap holder with suitable metric according to your tap. If the tap
you will use is attached to a tap holder of different metric, your tap may break because of torque
disagreement. Place the teeth near tap holder in such a way to fit teeth sockets at the end of module, by
pushing the ring on module at the end of spindle upwards, and release the ring; locking mechanism will
work automatically and fix the tap holder. ( See Picture 4)To remove tap holder from its place, it will be
enough to lift ring on module upwards.

Bring the tap (which is suitable for the hole you drilled beforehand, or which you will tap) on the hole and
press slightly and provide mouthing (diameters of holes to be drilled according to taps for tapping can
be found at the end of guide).

Then by pressing button to left side, make spindle turn clockwise. This way tapping tool will begin
process of tapping for hole. When the process is done, by holding button pressed to the right, make the
spindle turn counter-

clockwise. In that way tap tool will come back from tapped hole. If you lubricate the tap with suitable
grease before contacting with the material it will increase cutting speed and extend the life of the tap.

10



7— Machine's Operation

The transmission range of the machine is double-stage, and your tapping between M5 and M14 works at
600 rpm (decelerating as the tooth grows from the precision speed limiter) in the first run, while tapping
between M16 and M24 at 150 rpm by slowing the tooth as it grows). ATTENTION ! You have to work in the
2nd level from M16. Otherwise, the hydraulic system and the transmission system may be damaged.
Otherwise, your machine will be out of warranty. Step transitions are made with the step transition song on
the Lleft side of the front double-step gearbox group. M5-M16 is available when the dot on the stage song is
in the upper level (1st slot), and M16-M24 when the lower slot (2nd slot) is on. In order to make the
transition, you must rotate the song with your hand to sit in the nest. When switching between stages,
turning the work shaft slightly to the left or right during turn turning will help keep the gears in place.

Picture 5

If you put the finished tapping holders in the lower tapping holders, you have prevented possible
accidents.

Once you are done with the machine, press the engine stop (red button) button on the unit. And turn off
pako shawl. When you are not working with the machine, leave the acrobatic arm in the closed
position.

11



7— Machine's Operation

When you want to carry out tapping (See Picture 6) slightly loosen bolts with number 1 and number 2 as
seen on the picture (two bolts looking at each other). This way the front head will turn to horizon and
tapping head will be able to rotate 360 degrees.

Then only tighten bolts with number 2 and leave bolt with number 1 loose. Because head group needs to
be free during horizontal tapping process. It is to ensure that head and related tap move easily at the axis
of hole you drilled during horizontal tapping, and being able to adjust itself according to angle.

Your machine is ready for horizontal tapping process.

Picture 6

When your work is done with the machine, press the engine stop button (red button) on the unit and turn
off the pacco switch. If you are not working with the machine, keep the acrobatic arm closed...

12



8- Maintance of Machine

Fill oil tank in the table with minimum 9o lt, maximum 100 It with hydraulic oil (grade 46).

Periodically change hydraulic oil after 2500 hours of usage to use hydraulic motor and machine at desired
performance with long life.

Track oil level with indicator at certain periods. Clean the inside of safe tap holders with pressured air at
certain periods. Otherwise there may be breakage possibility for the taps.

Thin machine oil and grease shall be applied to suitable grease fittings at transmission unit at certain
periods depending on machine's operation frequency.

8-1 Filling Hydraulic Oil

When you want to fill machine with hydraulic oil, you can fill hydraulic oil (grade 46) at minimum Qo It,
maximum 100 It with the help of funnel by opening storage cover as in the picture (See Picture-7).

STORAGE
COVER

Picture 7

To change hydraulic oil, open blind plug at the bottom of machine and evacuate hydraulic oil. After
hydraulic oil is completely emptied, tighten blind plug again at its place.You can fill hydraulic oil (grade
46) with funnel (minimum Qo It, maximum 100 It) by opening storage cover.

13



9 — Maintenance Control List

CONTROL POINTS 15 DAY MONTHLY EVERY 2500 H
HYDRAULIC OIL LEVEL CONTROL DAg
HYDRAULIC OIL LEAKAGE CONTROL W
HYDRAULIC OIL REPLACEMENT P

GENERAL CLEANING

CONTROLLING CONNECTION BOLTS
CONTROLLING ELECTRIC CONNECTIONS
CLEANING TAP HOLDERS

X % %

10 - Safe Tap Holder System

Safe type tap holders are produced separately for each metric tooth and they have a torque-adjusted
system inside of them. This system is adjusted by producing company according to torque values which
prevent breakage of tap you use, and prevents being exposed to too much force. It reduces tap breakage
risk to minimum. If the hole you use for tapping is a blind hole and if tap reached to bottom or if tap cannot
move because of the jamming of burr created during tapping process or similar reasons, this torque-
adjusted safe tap holder will become activated and even if you continue working for tapping, the machine's
spindle will turn but will not rotate the tap and tap will not move. So that tap breakage risk will be reduced
to minimum. Also decay of tapped part and tap tool costs will be minimum.

According to variety of the tap you use and the hardness of part for which you are carrying out tapping,
torque values of tap holders can be adjusted manually. Torque hardness of safe tap holder can be
increased or reduced. If your tap breaks before tap holder is activated remove wire segment at the front
side of tap holder (See Picture 8) as seen in the picture, rotate interior hub of holder one grade in counter-
clockwise direction in such a way to fit wire segment entrance holes on the hub, and place wire segment
again to its place. In that way torque value of your tap holder will be reduced and your tap will not break
with the activation of safe torque system before your tap

breaks. To operate safe torque system at later and higher torque values, apply the above mentioned
process by rotating clockwise. In that way torque value of tap will be increased and torque system will be
activated later.

WARNING! Attention must be paid at this process because the breakage risk of tap will increase as it will be
exposed to bigger force

WIRE SEGMENT

THE SOCKET WHERE WIRE SEGMENT IS
PLACED AND CHANNEL SHOWN WITN
ARROW MUST COINCIDE WITH EACH
OTHER

Picture 8 14



1.8/4 / /T
* 1.5/3 e————
02 03
4
" wuu P 3 £ £ 3 ﬂ» ¥ ﬂ»
- -B1 : -B2 -S1 -S2E7
96 BuTONL 4 BUTON2 STRRT 4 2 2
281 082 QsT SR
3
K1\
q
2 5
1.5 ’ N
V1 r~ oy oK
Ri Al WY R1
-3 X -v2C X -1 K1 -H2
VALF A2 YALF2 Lr A2 A2
— |
01 009
1.8/~ N\ N\ (ﬂ
8 0
S~ 6
13 -~ 14
13 o~ 124
TERMIK NC VALF1 VALF2 KONTRKTOR START STOP
LAMBA LRAMBAR

+/3.0

-/3.0

15



T

) o7

oLl

.3/»0

PE

s

QPE

16

+

zZ - wvw =

B O

= O

o~
O W

0. 75mn*




13- Drawing Diameters

METRIK INCE 1SO

METRIK 1SO VIDALAR DIN 13 VIDALAR DIN 13 WHITWORTH VIDA DIN11
{ing) (mm) (ing) (mm) (ing) (rmm)
A1 x025 0.78 M4ax035 36 /18 1.18
M11x025 0.85 M4 x05 35 8 255
M1.2x025 0.95 M5x05 45 ane ar
M14x03 1.1 MEX0S 59 14 S
MI16x035 1.25 MEx0T7S5 525 916 65
M1.7x035 13 M7x075 625 kY 79
M18x035 1.45 MBx05 7.5 718 03
M2x04 16 MB8x075 7.25 12, 1085
M2.2x0,45 1.78 MBx1 7 /16 121
M23x04 19 M9x1 8 538 135
M25x045 2.05 M10x0,75 925 116 15
M26x045 2.1 MI10xt 2 X4 1625
M3x05 25 M10x1.25 83 1316 18
M35x00 29 Mitxt 10 78 1825
Méx07 33 M12x0.75 11.25 15/16 21
MA5x075 37 Mi12x1 1" 1 22
M5x08 42 MI12x15 10.5 1 18 24.75
M55 x09 46 MI3x1 12 114 28
MGx1 5 Migx 13 1 38 30
M7x1 6 MI14x1.25 12.8 112 335
M8 x 125 68 Mi18x15 12.5 t 68 355
MO x 125 78 MiGx1 15 1 34 30
M1Ox15 85 MI16x1.5 14.5 1 78 415
Miixi15 25 Mi18x1 \F 2 445
Mi12x1.75 102 M18x2 18
Mi14x2 12 M20x1 16
Miéx2 14 M20x 15 18.5
MI18x25 165 M20x2 18
M20x25 175 M2x1 2%
M22x25 195 M2x15 205
M24x3 21 M22x2 20
M27x3 24 M24x 1.5 25
M3Ox35 265 M24x2 22
M33Ix35 205 M25x 1.5 235
MIEx4 a2 M28x 1.5 245
M3Ox4 35 M27x15 255
MAaZx4a5s 375 M27x2 o]
M4aSx45 405 M28x 15 265
M4e8x 5 a6 M30x15 285
M52 x5 47 MOx2 28
MG x55 905
MOOx55 545
MO<xB 58
ME8 x6 62
KABA VIDA UNC - NC INCE VIDA UNF - NF WHITWORTH BORU VIDA
(mc) (mm) lmc) (mm) ling) Imm)
2. 1 .;5 1 25 G 18
N.Z G4 11.8
N 3 ')v Nv? '9 Gas 1526
Ne. d 235 Nr. 3 215 G112 10
N 5 2.65 Nr. 4 24 G&8 21
Nr. 6 255 N. & 7 G4 245
Nr. 8 345 Nr. 6 295 G778 2825
Ne. 10 39 Nr. 8 35 Gt 30.75
Nr, 12 45 Ne. %0 41 G118 ass
Va4 52 Ne. 12 4.7 G174 39
516" 6.6 14" 55 G138 425
KU N 8 16" 69 G112 855
7me* 04 38" 85 G134 51
172" 108 716" 99 G2 57
i Ly 122 12° 1.5 G214 [X)
58° 135 16" 129 G212 725
<17 g 185 58° %S5 G234 79
8" 195 34" 1725 G3 855
1 2225 778" 20.5 G314 915
11/8° 25 1° 2326 G312 98
114" 28 11/8° 20.5 G334 104

11722 34 14t 25 G4 1105



14~ Spindle - Part List

S

(1)

3 —2@D))
L
|

(15)

1. HYDRAULIC MOTOR
2. PINION GEAR
3. M6 X 40 BOLT

4. HYDRAULIC MOTOR
FLANGE

5. OUT SUN GEAR

6. M6 X 25 BOLT

7. GEAR FLANGE

8. NEEDLE BEARING

9. PLANET GEAR

10. PLANET GEAR PIN
11. SPINDLE

12. SPINDLE BEARING
13. SPINDLE RING

14. SPINDLE MAIN BODY
15. SPINDLE LOCKING PIN

16.TAP COLLET LOCKING
RING

18



